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TNPSC GROUP -  II  Prelims Test- 7 

Answer key   -   09-04-2022 

Geography 

1. Consider the following statements. 

1. Great Nicobar is an Southern most largest islands in india. 

2. Chatam Sawmill is located in the Nicobar islands. 

Which of the statements given above is/are incorrect? 

Codes:  

a) 1 only  b) 2 only  c) Both 1 and 2  d) Neither 1 nor 2 

 

gpd;tUk; $w;Wfis fUj;jpy; nfhs;f. 

1. nghpa epf;Nfhgh; jPT> ,e;jpahtpd; njw;F gFjpapy; cs;s nghpa 

jPTf;$l;lkhFk;. 

2. rhj;jk; kuk; mWf;Fk; Miy epf;Nfhgh; jPtpy; mike;Js;sJ. 

Nkw;fz;ltw;Ws; jtwhdit vJ/vit? 

 

m. 1 kl;Lk;       M. 2 kl;Lk;  

,. 1 kw;Wk; 2 ,uz;Lk;       <. ,uz;Lkpy;iy 

 

2. Match the following List 1 with List 2 

List 1      List 2 

(Oil Refinery)     (State) 

A) Ankleshwar   - 1. Uttar Pradesh 

B) Haldia    - 2. Gujarat 

C) Mathura   -  3. Haryana 

D) Panipat    - 4. West Bengal 
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gl;bay; - 1I gl;bay; 2 cld; nghUj;Jf 

  gl;bay; 1     gl;bay; 2 

(vz;nza; Rj;jpfhpg;G ikak;)   (khepyk;) 

m. mq;fNy];th;   - 1. cj;jpu gpuNjrk; 

M. `hy;jpah   - 2. F[uhj; 

,. kJuh    - 3. `hpahdh 

<. ghdpgl;    - 4. Nkw;F tq;fhsk; 

Codes: 

 A B C D 

a) 3 2 1 4 

b) 2 1 4 2 

c) 4 2 3 1 

d)  2 4 1 3 

 

3. Consider the following statements. 

 1. India’s widest 96km long expressway connects Delhi with Meerut. 

 2. Delhi-Meerut Expressway is 16 lane express way. 

Which of the statements given above is /are correct? 

Codes: 

a) 1 only   b) 2 only   c) both 1 and 2  d) Neither 1 nor 2 

gpd;tUk; $w;Wfis fUj;jpy; nfhs;f. 

1. ,e;jpahtpd; kpfTk; mfykhd 96 fp.kP ePsk; nfhz;l mjptpiuTr; rhiy  

nly;ypia kPul;Lld; ,izf;fpwJ. 

2. nly;yp - kPul; mjptpiuTr; rhiy> 16 top tpiuTr; rhiyahFk;. 

Nkw;fz;ltw;Ws; rhpahdit vJ/vit? 

m. 1 kl;Lk;  M. 2 kl;Lk;  ,. 1 kw;wk; 2 ,uz;Lk;  <. 

,uz;Lkpy;iy 

 

4. Match the following List 1 with List 2. 

 List 1     List 2 

    (Pollution)           (State) 

A) Arsenic   - 1. Haryana 

B) Nitrate   - 2. West Bengal 

C) Chloride  - 3. Rajasthan 

D) Fluoride  - 4. Gujarat 
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gl;bay; - 1I gl;bay; 2 cld; nghUj;Jf 

 gl;bay; 1     gl;bay; 2 

(khRgLjy;)     (khepyk;) 

 m. Mh;rdpf;  - 1. `hpahdh 

 M. iel;Nul;  - 2. Nkw;F tq;fhsk; 

 ,. FNshiuL  - 3. uh[];jhd; 

 <. g;NshiuL  - 4. F[uhj; 

Codes: 

 A B C D 

a) 2 1 4 3 

b) 4 3 1 2 

c) 3 1 2 4 

d)  1 4 2 3 

 

 

5. The district which has the high density of population according to 2011 census? 

a) Coimbatore     b) Kanyakumari 

c) Chennai      d) Kanchipuram 

2011 kf;fs; njhif fzf;nfLg;gpd;gb nfhLf;fg;gl;l khtl;lq;fS;fFs; mjpa 

kf;fs;  

mlh;j;jpia nfhz;Ls;sJ vJ? 

m. Nfhak;Gj;J}h;     M. fd;dpahFkhp 

,. nrd;id     <. fhQ;rpGuk; 

 

6. Consider the following pairs:  

 1. Anaimalai hills   -  Tamilnadu 

 2. Khasi Hills   -  Mizoram 

 3. Abu Hills   -   Gujarat 

 4. Rajmahal Hills   -  Jharkand 

Which of the given pairs is /are correctly matched. 

a) 1 and 3 only     b) 1 and 4 only 

c) 2 and 3 only     d) 2 and 4 only 

gpd;tUk; ,izia fUj;jpy; nfhs;f. 

1. Mizkiy  -  jkpo;ehL 

2. fhrp kiy  -  kPNrhuk; 

3. mG kiy  -  F[uhj; 
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4. uh[;k`hy;  -  [hh;fz;l; 

FwpaPLfs;: 

m. 1 kw;Wk; 3 kl;Lk;   M. 1 kw;Wk; 4 kl;Lk; 

M. 2 kw;Wk; 3 kl;Lk;   <. 2 kw;wk; 4 kl;Lk; 

 

7. Find out the incorrect pair. 

 (Place)    (Mineral) 

a) Bokaro   -  Iron ore 

b) Umarsar  -  Coal 

c) Khetri   -  Copper 

d) Kolar   -  Bauxite 

 

jtwhd ,iziaj; Njh;e;njL.  

(jhJ fpilf;Fk; ,lk;)    (jhJ) 

m. ngf;fhNu  -  ,Uk;Gj;jhJ 

M. ckh;rh;   -  epyf;fhp 

,. fPj;hp   -  fhg;gh; 

<. Nfhyhh;   -  ghf;i]l; 

 8. Match the following list 1 and List 2 

 List 1     List 2 

(National park)    (State) 

A) Valmild   -  1. Madhyapradesh 

B) Kanha   -  2. Odisha 

C) Satkosia  -  3. Uttarakhand 

D) Corbett   -  4. Bihar 

gl;bay; - 1I gl;bay; 2 cld; nghUj;Jf 

 gl;bay; 1     gl;bay; 2 

(Njrpa g+q;fh)     (khepyk;) 

m. thy;kPfp   -   1. kj;jpag; gpuNjrk; 

M. fd;̀ h   -    2. xb]h 

,. Nrl;Nfhrpah  -  3. cj;jpufhz;l; 

<. fhh;ngl;   -  4. gPfhh; 

Codes: 

 A B C D 

a) 2 3 4 1 

b) 4 1 2 3 

c) 2 3 1 4 
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d)  1 4 2 3 

 

9. Which of the following Blosphere – Reserve is not Included in the world 

Network of Blosphere reserve based on the UNESCO – MAB? 

a) Sunderbans      b) Similipal 

c) Agasthyamalai     d) Manas 

UNESCO – MAB – ia mbg;gilahf nfhz;l cyf tiyaikg;G ,Ug;Gfspy; 

Nrh;f;fg;glhj gy;Y}aph;f; Nfhsk; vJ? 

m. Re;jutdk;      M. rpkpypghy; 

,. mf];jpakiy     <. khd]; 

10. Find out the incorrect pair 

a) Sunderbans   - West Bengal 

b) Dhang-Dibang - Assam 

c) Panna   - Madhya Pradesh 

d) Cold Desert  - Himachal Pradesh 

jtwhd ,iziaj; Nju;e;njL. 

m. Re;jutdk;  - Nkw;Ftq;fhsk; 

M. jpfhq; - jpghq; - m];]hk; 

,. gd;dh   - kj;jpag; gpuNjrk; 

<. Fsph;e;j ghiytdk; -  ,khr;ry gpuNjrk; 

11. India’s leading coffee producing state is _____ 

a) Kerala      b) Tamilnadu 

c) Karnataka     d) Maharastra 

,e;jpahtpy; fhgp cw;gj;jpapy; Kd;dzp tfpf;Fk; khepyk; vJ? 

m. Nfush      M. jkpo;ehL 

,. fh;ehlfh     <. kfhuh\;buh 

 

12. Find out the incorrect pair. 

a) Leading Jute Producing state  - West Bengal 

b) Leading Salfron Producing state  - Jammu and Kashmir 

c) Leading Bajra Producing state  - Rajasthan 

d) Leading Jowar Producing state - Gujarat 

 

gpd;tUtdtw;Ws; jtwhd ,iziaf; fz;lwpf. 

m. rzy; cw;gj;;jpapy; Kd;dpiy tfpf;Fk; khepyk; - Nkw;F tq;fhsk; 

M. Fq;Fkg;g+ cw;gj;jpapy; Kd;dpiy tfpf;Fk; khepyk; - [k;K kw;wk; fh\;kPh; 

,. fk;G cw;gj;jpapy; Kd;dpiy tfpf;Fk; khepyk;  - uh[];jhd; 
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<. Nrhsk; cw;gj;jpapy; Kd;dpiy tfpf;Fk; khepyk; - F[uhj; 

13. Which of the following Biosphere Reserve is not correctly matched with its 

corresponding state of location? 

a) Seshachaiam  - Andhrapradesh 

b) Similipal - Odisha 

c) Nandadevi - Uttarpradesh 

d) Nokrek   - Meghalaya 

 

gpd;tUtdtw;Ws; ve;j caph;Nfhs ghJfhg;G ikak; mjd; miktplj;Jld; rhpahf 

nghUe;jtpy;iy? 

m. N\rhr;ryk; - Me;jpug;gpuNjrk; 

M. rpk;ypg;ghy; - xb]h 

,. ee;jh Njtp - cj;jpug;gpuNjrk; 

<. Nehf;uf; - Nkfhyah 

 

14. Choose the incorrect statement from the following. 

a) The Utkal plain is found along the coast of Maharastra 

b) The Coastal plain between Mahanadi and Krishna rivers is known as the 

Northern circars 

c) Kolleru Lake is found in Andhra plain 

d) The Andhra Plain has straight coast and has few sites for good harbor 

gpd;tUtdtw;Ws; jtwhd $w;iw Njh;e;njL. 

m. cj;fy; rkntsp kfhuh\;buh flw;fiuNahuk; fhzg;gLfpd;wd. 

M. kfhejp kw;Wk; fpU\;zh MWfSf;F ,ilNa fhzg;gLk; flw;fiuia tlrh;fhh; 

flw;fiu vd miof;fg;gLfpwJ. 

,. Me;jpu flw;fiur; rkntspapy; nfhy;NyU Vhp mike;Js;sJ. 

<. Me;jpu flw;fiur; rkntsp NeuhfTk; JiwKf miktplj;jpw;F Vw;wjhfTk; 

cs;sJ. 

 

15. Match the following List 1 with List 2. 

  List 1     List 2 

     (Plateau)    (State) 

A) Ladakh   - 1. Meghalaya 

B) Malwa   - 2. Jharkhand 

C) Hazaribagh  - 3. Madhya Pradesh 

D) Shillong  - 4. Jammu & Kashmir 
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(gPlg+kp)   (khepyk;) 

m. ylhf;   - 1. Nkfhyhah 

M. khy;th   - 2. [hh;fz;l; 

,. `rhhpghf;  - 3. kj;jpag; gpuNjrk; 

<. \py;yhq;   - 4. [k;K fh\;kPh; 

Codes: 

 A B C D 

a) 1 3 4 2 

b) 4 3 2 1 

c) 3 1 2 4 

d)  2 3 1 4 

Current affairs 

1.Which country hosted BIMSTEC Summit 2022? 

A. Thailand    B. India 

C. Sri Lanka    D. Bangladesh 

1.பிம்ஸ்டெக் உசச்ி மாநாடு,2022  எந்த நாெ்டில் நடெடெற்றது? 

 A. தாய்லாந்து     B. இந்தியா 

   C. இலங்டக     D. ெங்களாததஷ் 

 2.Caitlin Novak has become the first female President of which country? 

A. Norway    B. Uganda 

C. Sweden    D. Hungary 

2.'டகய்ெல்ின் தநாவக்' எந்த நாெ்டின் முதல் டெண் அதிெரானார்? 

 A. நார்தவ     B. உகாண்ொ 

  C. ஸ்வீென்      D. ஹங்தகரி 

3.India has pulled out from which of these multilateral exercises in 2022, amid growing crises in 

Ukraine? 

A. Cobra Warrior   B. Sea Breeze 

C. Shared Destiny   D. Desert Knight 

3.உக்டரனில் வளர்ந்து வரும் டநருக்கடிகளுக்கு மத்தியில், 2022ல் இந்தியா எந்த 

ெயிற்சியிலிருந்து விலகியுள்ளது? 

 

 A. தகாெ்ரா வாரியர ்ெயிற்சி  B. கெல் காற்று ெயிற்சி 

 C. தஷர்ெ் டெஸ்டினி ெயிற்சி  D. டெசர்ெ ்டநெ ்ெயிற்சி 

 

4.Evacuation mission to bring back all the Indian nationals who are currently stranded in 

Ukraine. 

A.Operation Vande Bharat   B.Operation Safe Homecoming 

C.Operation Raahat   D.Operation Ganga 
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 4. தற்தொது உக்டரனில் சிக்கித் தவிக்கும் இந்தியடர அடைத்து வருவதற்கான 

ஆெதரஷன். 

 A.ஆெதரஷன் வந்தத ொரத் 

  B.ஆெதரஷன் தசஃெ் தஹாம்கமிங் 

 C.ஆெதரஷன் ராஹத் 

 D.ஆெதரஷன் கங்கா 

5.Which country had declared a state of emergency on April 02,2022 

A.Pakistan     B.Ukraine 

C.Srilanka     D.Bangladesh 

 5.ஏெ்ரல் 02,2022 அன்று எந்த நாடு அவசரகால நிடலடய அறிவித்தது? 

  A.ொகிஸ்தான்     B.உக்டரன் 

  C.இலங்டக     D.வங்காளததசம் 

Aptitude 

1.What is the probability that a leap year selectedat random will contain 53 

sundays 

சமவாய்ெ்பு முடறயில் ததரந்்டதடுக்கெ்ெடும்,லீெ் வருெம் 

53 ஞாயிற்றுக் கிைடமகள் டகாண்டு இருக்க நிகை்தகவு யாது? 

A)2/7     B)3/7 

C)4/7     D)5/7 

 

2)Two dice are thrown. what is the probability of getting a total of face numbers 

12? 

 இரு ெகடெகள் உருெ்ெெ்ெடும் தொது முக எண்களின் கூடுதல் 12 

கிடெக்க நிகை்தகவு யாது? 

A)1/36     B)1/18 

C)1/12     D)1/6 
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3. Three dice are thrown simultaneously find the Probability of getting Triplet in 

all three 

மூன்று ெகடெகள் ஒதர தநரத்தில் ஒெ்ெெ்ெடுகின்றன மூன்றிலும் 

ஒதர எண் கிடெக்க நிகை்தகவு காண்க 

A)1/16     B)1/36 

C)1/216     D)1/24 

4)A fair die is rolled. Find the probability of getting a Prime factor of 6  

ஒரு சீரான ெகடெ ஒருமுடற உருெ்ெெ்ெடுகிறது அதில் 6-ன் ெகாக் 

காரணிகள் கிடெக்க நிகை்தகவு யாது? 

A)2/3     B)1/3 

C)5/6     D)1/2 

5)In a well shuffled pack of 52 cards , a card is drawn at random find the 

probability of diamond or  king Cand 

நன்கு கலக்கெ்ெெ்ெ 52 சீெ்டுகள் டகாண்ெ சீெ்டுக்கெ்டில் இருந்து ஒரு 

சீெ்டு எடுக்கெ்ெடுகிறது அது ெயமன்ெ ்அல்லது ராஜா சீெ்ொக இருக்க 

நிகை்தகவு 

A)4/13     B 5/13  

C)6/13      D) 9/13 

6)The probability of getting a Job for a person: is x/3  if the Papability of not 

getting the job is x/3 then the value of x -is 

ஒரு நெருக்கு தவடல கிடெெ்ெதற்கான நிகை்தகவு x/3 தவடல 

கிடெக்காமல் இருெ்ெதற்கான நிகை்தகவு 2/3 எனில் xன் மதிெ்பு  

A)1.5       B)1 

C)2       D)3 
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7)A page is selected at random from a book The Probabiling that the digit at 

units place of the page number choosen in less than 7 is 

 ஒரு புத்தகத்தில் இருந்து சமவாய்ெ்பு முடறயில் ஒரு ெக்கம் 

ததர்ந்டதடுக்கெ்ெடுகிறது  அந்த ெக்க எண்ணின் ஒன்றாம் இெ 

மதிெ்பு 7ஐ விெக் குடறவாக இருக்க நிகை்தகவு.  

A) 3/10     B )6/10 

C )7/10     D)7/9  

8) If P(A) =2/3 ,  P(B) = 2/5 

 P (AUB)=1/3   find P(ANB)  

 P(A) = 2/3 , P(B) =2/5 

 P(AuB) = 1/3 எனில் P(AnB)=___ ? 

A 15/16     B 16/15 

C)15/11     D)11/15 

9)which of the following values can no be probability of an event 

டகாடுக்கெ்ெெெ் எண்களில் எடவ நிகை்தகவாக இருக்க முடியாது 

A)0.5      B)1 

C)20%     D)1.001 

10)Find the probability of throwing a sum 9 with two dice. சீரான இரு 

ெகடெகள் உருெ்ெெ்ெடும் தொது கூடுதல் 9 கிடெக்க நிகை்வில் யாது 

A)1/36     B)1/12 

C)1/18     D)1/9 
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1. ,kpo;fly; Ntypiaj; jkpo;ehL Mf;fpa  
    ,JeP fUjpid Mapd; - ,lk;ngWk; E}y;? 
 

m) rpyg;gjpfhukm) rpyg;gjpfhukm) rpyg;gjpfhukm) rpyg;gjpfhuk;  M)njhy;fhg;gpak;   ,)jpUf;Fws; <) ngupaGuhzk; 

      2.  ‘mbfs; ePNu mUSf”  ahu; $u? ‘ehl;LJk; ahk; Xu; ghl;Lil nra;As;” ahu; $upaJ? 

          m) ,sq;Nfhtbfs; >rPj;jiyrhj;jdhu; 

   M) rPj;jiyrhj;jdhuM) rPj;jiyrhj;jdhuM) rPj;jiyrhj;jdhuM) rPj;jiyrhj;jdhu    ;>  ,sq;Nfhtbfs;>  ,sq;Nfhtbfs;>  ,sq;Nfhtbfs;>  ,sq;Nfhtbfs;  

 ,) ,uz;Lk; jtW 

 <)vJTkpy;iy 

3 klnkhop vd;wiof;fg;gLgts; ahu;? 

 m) fz;zfp M) Nfhg;ngUe;NjtpM) Nfhg;ngUe;NjtpM) Nfhg;ngUe;NjtpM) Nfhg;ngUe;Njtp  ,) Rjkjp <) tae;jkhiy 

4 klf;nfhb vd;wiof;fg;gLgts; ahu;? 

 m) fz;zfpm) fz;zfpm) fz;zfpm) fz;zfp M) Nfhg;ngUe;Njtp  ,) Rjkjp <) tae;jkhiy 

5 mbrpymbrpymbrpymbrpy; itfy; Mapuk; mwg;GwKk; Mapuk; -mbrpy; vd;gjd; nghUs;  

 m) muprp M) khT ,) NrhW,) NrhW,) NrhW,) NrhW  <) gyg;gok;  

6 rPtfrpe;jhkzp ghLtjw;F Kd;Ndhl;lkhf ,aw;wg;gl;l E}y; vJ? 

 m)ntw;wpNtl;if M) ePyNfrp  ,) R+yhkzp  <) euptpUj;jk;<) euptpUj;jk;<) euptpUj;jk;<) euptpUj;jk;  

7 ‘Mf;FtJ Vnjdpy; mwj;ij Mf;Ff 

 Nghf;FtJ Vnjdpy; ntFsp Nghf;Ff” -,lk;ngWk; E}y;? 

 m) ehfFkhu fhtpak; M) aNrhju fhtpakM) aNrhju fhtpakM) aNrhju fhtpakM) aNrhju fhtpak; ,) jkpo;tpL J}J  <) Kf;$lw;gs;S 

 
8 %d;wpdk;>Kf;Fzk;> Fwpj;J $Wk; E}y; ? 

 m) jphpfLfk; M) aNrhju fhtpak; ,) jkpo;tpL J}J,) jkpo;tpL J}J,) jkpo;tpL J}J,) jkpo;tpL J}J  <) Kf;$lw;gs;S 

9 jkpopy; ,uz;buz;L mbfs; nfhz;l vJifahy; njhLf;fg;gLk; nra;As; ? 

 m) fz;zp M) jpUf;Fws;  ,) tif fz;zp,) tif fz;zp,) tif fz;zp,) tif fz;zp <) vJTkpy;iy 

10  jkpo;tpL J}J E}ypy; J}J nghUl;fs; vit? 

 m) Gwh> md;dk; M) kapy; > Fapy;  ,) md;dk; > tz;L,) md;dk; > tz;L,) md;dk; > tz;L,) md;dk; > tz;L <) tz;L ehiu 

11 rPtfd; fy;tp fw;wijf; $Wk; ,yk;gfk; vJ? 

 m) kz;kfs; ,yk;gfk; M) G+kfs; ,yk;gfk; ,) ehkfs; ,yk;gfk,) ehkfs; ,yk;gfk,) ehkfs; ,yk;gfk,) ehkfs; ,yk;gfk; <) Kf;jp ,yk;gfk; 

12 jkpo; ftpQu;fspd; murd; ahu;? 

 m)fk;gu;  M) jpUts;Stu;  ,) ,sq;Nfhtbfs;  <) jpUj;jf;f Njtu;<) jpUj;jf;f Njtu;<) jpUj;jf;f Njtu;<) jpUj;jf;f Njtu;    

    



13 13 13 13 IQ;rpW fhg;gpak; vd;w tof;fpid Vw;gLj;jpatu; ahu;? 

 m)t.uh  M) jpU.tp.f   ,) K.t  <) rp.it.jhNkhjuk; gps<) rp.it.jhNkhjuk; gps<) rp.it.jhNkhjuk; gps<) rp.it.jhNkhjuk; gps;is;is;is;is    

14141414    Kf;$lh;gs;S $Wk; jhdpa tif kw;Wk; kPd; tiffs; ? 

    m)120>150 M)100>150 ,)100>200 <)150>120<)150>120<)150>120<)150>120  

15 fl;bDk; foq;fpDk; vd;w njhy;fhg;gpa E}w;ghthy; Njhd;wpaJ? 

 m) FwtQ;rp  M) gs;SM) gs;SM) gs;SM) gs;S ,) cyh  <) J}J 

16 tl;l kNfhjjp Ntt nthUtsp  

 tpl;l jpUf;nfhw;w tpw;fhzPh;  kNfhjjp vd;gjd; nghUs; ? 

 m) thdk;  M) kio  ,) fly,) fly,) fly,) fly;  <) kiy  

17 jpt;tpaftp vd;wiof;fg;gLgtu; ahu;? 

 m) gps;isg;ngUkhs; Iaq;fhu; M) mofpa kzthsjhru; ,) m >M,) m >M,) m >M,) m >M   <) vJTkpy;iy  

18 m\;lgpuge;jk; E}ypd; Mrpupau; ahu;?  

 m) jpU%yu;   M) fk;gu;  ,) ,uhkhD[u;  <) jp<) jp<) jp<) jpt;tpaftpt;tpaftpt;tpaftpt;tpaftp  

19 fjk;gk; vd;gJ fyk;gfk; vd;W jpupe;jjhf fUJgtu; ahu;? 

 m) jpU%yu;   M) c.Nt.rhM) c.Nt.rhM) c.Nt.rhM) c.Nt.rh  ,) ,uhkhD[u;  <) jpt;tpaftp 

20 rfyfyhty;yp khiy vd;w E}ypd; Mrpupau; ahu;? 

 m) jpU%yu;   M) c.Nt.rh  ,)FkuFUguh;,)FkuFUguh;,)FkuFUguh;,)FkuFUguh;  <) jpt;tpaftp 

21 jkpioAk; nja;tj;ijAk; ,Ufz;fshff; nfhz;ltu; ahu;?  

 m) jpU%yu;   M) c.Nt.rh  ,)FkuFUguh;,)FkuFUguh;,)FkuFUguh;,)FkuFUguh;  <) jpt;tpaftp 

22  jkpofj;jpd; Ntl;];tu;j; vd;wiof;fg;gLgtu; ahu;?  

 m) jpU%yu;   M) c.Nt.rh  ,),),),)ftpQNuWftpQNuWftpQNuWftpQNuW  <) jpt;tpaftp 

23 Nrhfk; juhjtd; mNrhfd; vd;W ghbatu; ahu;? 

 m) jpU%yu;   M) ctikf;ftpQuM) ctikf;ftpQuM) ctikf;ftpQuM) ctikf;ftpQu;  ,)ftpQNuW  <) jpt;tpaftp 

24. ,ul;ilf; fpstp Nghy; ,ize;Nj thOq;fs; gpupj;jhy; nghUspy;iy vd ghbatu;? 

 m) jpU%yu;   M) M) M) M) RujhRujhRujhRujh  ,)ftpQNuW  <) jpt;tpaftp 

25 ,kak; vq;fs; fhybapy; E}ypd; Mrpupau; ahu;? 

 m) Nkhfduq;fd;m) Nkhfduq;fd;m) Nkhfduq;fd;m) Nkhfduq;fd;  M) Rujh  ,)ftpQNuW  <) jpt;tpaftp 

26262626 ntWq;if vd;gJ %lj;jdk; - cd;  

    tpuy;fs; gj;Jk; %yjdk;  tupfs; ahUilaJ? 

 m) jhuhghujpm) jhuhghujpm) jhuhghujpm) jhuhghujp  M) Rujh  ,)ftpQNuW  <) jpt;tpaftp 



27 G+f;fis Ve;j Ntz;ba ,e;j nky;ypa fhk;Gfspy; tho;f;ifapd; ghuj;ij  Vw;wpitj;jJ 
ahu;? tupfs; ahUilaJ? 

 m) jhuhghujp  M) ftpf;NfhM) ftpf;NfhM) ftpf;NfhM) ftpf;Nfh  ,)ftpQNuW  <) jpt;tpaftp 

28 kuGf; ftpijapd; Ntu; ghu;j;jtu; GJf;ftpijapy; kyu; ghu;j;jtu; ahu;? 

    m) mg;Jy; uFkhd;m) mg;Jy; uFkhd;m) mg;Jy; uFkhd;m) mg;Jy; uFkhd;   M) ftpf;Nfh  ,)ftpQNuW  <) jpt;tpaftp 

29292929 gpy;fpupk;]; Guhfpu]; vd;w E}ypd; Mrpupau; ahu;? 

    m) mg;Jy; uFkhd;;;;   M) ftpf;Nfh  ,)ftpQNuW  <) <) <) <) [hd;gdpad;[hd;gdpad;[hd;gdpad;[hd;gdpad;  

30 ,iwtid topgL nghUshf kl;Lky;yhky; tho;f;ifg; nghUshfTk; nfhz;ltu; ahu;? 

 m) ngupaho;thu;   M) khzpf;fthrfu;  ,)mg;gu;  <) <) <) <) Re;juh; Re;juh; Re;juh; Re;juh;  

 

  

 

 

  



Dr APJ COACHING CENTER 

GENERAL ENGLISH GROUP II PRELIMS TEST 

 

1. It sat alone.  

What happened there is still today unknown. 

 It is a very mysterious place,  

And inside you can tell it has a ton of space,  

But at the same time, it is bare to the bone.  

 

What does ‘It’ refer to? 

a) Tree 

b) Time 

c) House 

d) Ghost 

Ans: c 

2. I drive past the house almost every day. 

 The house seems to be a bit brighter.  

On this warm summer day in May.  

It plays with your mind.  

 

To whom does ‘I’ refer to? 

a) House 

b) Poet 

c) Street  

d) Ghost 

Ans:b 

 

 

 

 

 



3.  I drive past the house almost every day. 

 The house seems to be a bit brighter.  

On this warm summer day in May.  

It plays with your mind.  

 

Pick out the alliterated words in the 2nd line 

a) Bit-brighter 

b) The-be 

c) House-seems 

d) House-mouse 

Ans: a 

4. What happened there is still today unknown. 

 It is a very mysterious place,  

And inside you can tell it has a ton of space,  

But at the same time it is bare to the bone. 

 

Pick out the line that indicates the size of the house? 

a) It is a very mysterious place 

b) What happened there is still today unknown. 

c) But at the same time it is bare to the bone. 

d) And inside you can tell it has a ton of space,  

Ans: d 

 

5. It never grows leaves, 

 Not in the winter, spring, summer or fall.  

It just sits there never getting small or ever growing tall  

 

What does ‘it’ refer to? 

a) House 

b) Ghost 

c) Tree 

d) Street 

Ans: c 

 



6. I drive past the house almost every day.  

The house seems to be a bit brighter.  

On this warm summer day in May.  

It plays with your mind. 

 

What is the rhyme scheme of this stanza? 

a) AB AB 

b) AB AC 

c) AA BB 

d) BB AC 

Ans: b 

7. Pitter patter, pitter patter Raindrops on my pane 

What is the figure of speech mentioned here? 

a) Simile 

b) Metaphor 

c) Onamatopoiea 

d) Paradox 

Ans: c 

 

8. He will not see me stopping here  

To watch his woods fill up with snow. 

Identify the season with these lines 

a) Spring 

b) Winter 

c) Summer 

d) Autumn 

Ans: b 

 

9. My little horse must think it queer  

To stop without a farmhouse near  

Who is the speaker? 

a) Horse 

b) Poet 



c) People 

d) None of the above 

Ans: b 

 

10.  My little horse must think it queer  

To stop without a farmhouse near 

Pick out the rhyming words. 

a) Think -it 

b) My-must 

c) Queer-near 

d) Horse-queer 

Ans: c 

11. And miles to go before I sleep,  

And miles to go before I sleep. 

 

Mention the figure of speech here 

a) Oxymoran 

b) Epithet 

c) Repetition 

d) Metaphor 

Ans: c 

 

12. He gives his harness bells a shake  

To ask if there is some mistake. 

Whose harness bell did mention here? 

a) Poet 

b) Horse 

c) People 

d) Tree 

Ans: b 



13. I was angry with my friend  

I told my wrath ‘my wrath did end. 

 Who does ‘I’ refer to? 

 

a) Poet 

b) Enemy 

c) Hitler 

d) Musolini 

Ans: a 

 

14. And I watered it in fears  

Night and morning with my tears; 

 

How is ‘it’ watered? 

a) Day by day 

b) Hour by hour 

c) Morning to night 

d) Weekly once 

Ans: c 

 

15. And it grew both day and night,  

Till it bore an apple bright. 

 

Who does ‘it’ refer to? 

a) Apple 

b) Anger 

c) Tree 

d) None of the above 

Ans: b 

 

16. And I water’d it in fears,  

Night and morning with my tears:  

And I sunned it with smiles,  



And with soft deceitful wiles. 

 

Write the rhyme scheme of this stanza? 

a) AB AB 

b) BB AA 

c) AA CC 

d) AA BB 

ANS: D 

 

17. And into my garden stole,  

When the night had veiled the pole;  

In the morning glad I see,  

My foe outstretched beneath the tree. 

 

Pick out the rhyming words: 

a) Stole-see 

b) Stole-pole 

c) Pole-tree 

d) Tree-glad 

Ans: b 

 

18. I was angry with my friend;  

I told my wrath, my wrath did end 

 Pick out the alliteration words 

a) Wrath-wrath 

b) Was-mass 

c) Angry- hungry 

d) Me-see 

Ans: a 

 

19. Will rise curled green twigs,  

Miniature boughs  

Which if unchecked will expand again  



To former size. 

 

What does the word ‘miniature’ refer? 

a) Big 

b) Small 

c) Large 

d) Tall 

Ans: b 

 

20. Then the matter Of scorching and choking  

In sun and air, 

 

Pick out the word that is related to eclipse: 

a) Air 

b) Choking 

c) Scorching 

d) Sun 

Ans: d 

 

21. The bleeding bark will heal  

And from close to the ground  

Will rise curled green twigs,  

Miniature boughs 

 

Write the rhyme scheme of the stanza 

a) AB CC 

b) AA BB 

c) AB BA 

d) AC BC 

ANS: A 

 

22. It takes much time to kill a tree,  

Not a simple jab of the knife 



 Pick out the alliterative words: 

a) It-to 

b) Takes-tree 

c) Simple-jab 

d) Knife-wife 

Ans: b 

 

23. It takes much time to kill a tree,  

Not a simple job of the knife 

 

Whose job is mentioned here? 

a) Poet 

b) Author 

c) Tree 

d) Knife 

Ans: d 

 

24. So hack and chop  

But this alone won’t do it.  

Not so much pain will do it. 

 

What does the word ‘chop’ refer here? 

a) Join 

b) Cut 

c) Pain 

d) Vein 

Ans: b 

 

25. “Will you walk into my parlour?” said the Spider to the Fly,  

“Tis the prettiest little parlour that ever you did spy; 

Who is the author of this poem lines? 

a) William Blake 



b) Gieve Patel 

c) Emily Dickinson 

d) Mary Botham Howitt 

Ans: d 

 

26. “I’m sure you must be weary, dear, with soaring up so high;  

Will you rest upon my little bed?” 

 Whose words are these? 

a) Fly 

b) Spider 

c) Rider 

d) Tiger 

Ans: b 

 

27. “Oh no, no,” said the little Fly,  

“for I’ve often heard it said,  

They never, never wake again, who sleep upon your bed!” 

 Who have often heard it? 

a) Fly 

b) Spider 

c) Rider 

d) Tiger 

Ans: a 

 

28. ”Your eyes are like the diamond bright,  

but mine are dull as lead!” 

Identify the figure of speech here. 

a) Simile 

b) Metaphor 

c) Personification 

d) Anaphora 

Ans: a 



29. “Will you walk into my parlour?” said the Spider to the Fly,  

“Tis the prettiest little parlour that ever you did spy;  

The way into my parlour is up a winding stair, 

 And I’ve many curious things to show when you are there. 

 

Write the rhyme scheme of this stanza: 

a) AB BB 

b) AA BB 

c) AA BC 

d) AC BC 

Ans: b 

 

30. “Sweet creature!” said the Spider,  

“You’re witty and you’re wise,” 

 Pick out the alliteration words: 

a) Sweet-creature 

b) You-wity 

c) Witty-wise 

d) You-wise 

Ans: c 

 

 


